Model Multiple Choice Questions:
PC-15: Advanced Accounting (Commercial Audit)

Question Number:1

Going concern concept is best explained by recording of fixed asset
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Question Number:2

Firm A purchases a machinery for Rs. 100000/. It was allowed 10 per cent trade discount besides
cash discount of 5 per cent for payment of the money before the due date. The machinery account is
to be debited with
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Question Number:3



A Company should not change its accounting practices, rules and policies from one year to another
year due to
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Question Number:4

Valuation of closing stock at market price or cost whichever is lower, is an example of which principle
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Question Number:5

Cheques deposited but not cleared is ---------- if the starting point is balance as per Pass Book
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